
Algebra 2    Name_________________________  
Solving WS w/Condensing  Block____Date__________ 
 

Solve each equation. 

1. 
2 2log (4 6) log (7 30)x x− = −     2. log 5𝑥 = log(2𝑥 − 9) 

 

 

 

 

 

 

 

 

3. log(10 − 4𝑥) = log(12 − 3𝑥)    4. log2(4𝑝 − 2) = log2(−5𝑝 + 5) 

 

 

 

 

 

 

 

 

5. log5(4𝑘 − 5) = log5(2𝑘 − 1)    6. ln(−2𝑎 + 9) = ln(7 − 4𝑎) 

 

 

 

 

 

 

 

 

 



7. log 𝑥 + log 7 = log 21      8. log3 3𝑥 + log3 4 = log3 24 

 

 

 

 

 

 

 

 

9. log2 𝑥 − log2 3 = log2 6     10. log(𝑥 + 1) + log 3 = log 18 

 

 

 

 

 

 

 

 

 

11. ln 2𝑥 − ln 4 = ln 2     12. log4(𝑥 − 3) − log4 7 = log4 3   
    


